GUJCET
BOARD QUESTION PAPER-1

MAY-2017
Time : 1.00 !:lours] | alﬁ.’ld (050(G)) [Total Marks : 40
1. ﬁf:k—{%} SR - {%} . fix) = ;xj; du, d
(A) fl1x) = 2fx) - (B) f(x) = fx)
(© fx) = -Ax) (D) f(x) 4 s -l

2. f:RonAx)=3x+2
- g:R-oR gx)=6x+5
e [Q8u H2 (gof1)(10) =

8 f

(A) 21 (B) 29 (C) 7 - (D) 3
3. owm {1, 2, 3) vl die S = {(1, 2), 2, 1), 2, 3)} Q, deiw s A ]

(A) WuRa «l., (B) dxla 8. (C) RAus 8. (D) wea dvie 3. |
4., tan'{cotx) +L. corl(tanx) = (i, 0 <x < g) |

(A)% | (B) 2x C) n - 2x D)n-x |
5. cos (Z(tanflé + tﬁn-'SJJ =

1 -

1(A) N . B0 - ©O 1 . D
6. AABCURA=tan' 2, B=tan' 3, d C= |

Wz  ®y L ©3 oz

T @G 5), (7, k) w4 (3, 1) [itilt%qmt Buslad e?tvt&m. 10 U dl K 4 Yeu = ;
(A) =5 2hql 35 (B) 5 vua =35  (C) 15 wuaL -5 (D) -5 wau -25

k+r p g
8. Ak=p+rq+rdl| K+P a4 | 4 g 9.
- r p k+gq
(A) 2Kk2 (B) 2k3 ©) k3 - (D) 3k?

1T  —cos® -1

9. ®AD= c0s@ 1 —cosB| 3 g D o wes ew p e D g gt 4l

1 cosB 1
q Slu ctl 2p + 3q <l Bua. . CIUR -
&) 16 : B 6 (C) 14 D) 8
[1 4 4 -
10, AAa=[4 14 AL A? - 6A =
' _4 4 1_ | _ K
(A) 271, . B) 5 13 | - ©201 . D30hL .

.
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o AR34 24 sl oA
13 2 x|]o §
, ALY |
| A) = 3 5 T
- A3 . ® O ©) -3
d ,
12, E;(ﬁSW{Z.x+§) + cos(2x+3;—)) ey
| (A) 4 cos2x (B) -4 sin2x (C) 4 sin2x (D) —4 cos2x
130 A5 AX) = (x - 532 1[4, 6] W wse wly gy Big 2uaa-dl 2l
- A@B, 1) i B, 1) A Asdl @ wiidz 8
| 9 1 |
(A) (4, 6) (B) (-2—,2) (€) (0, 5) (D) (5, 0)

. (log, 2x)™%; x#1 -
. [Q9 fix) = { _(i_l)a, ] D% A £33 x =1 294 Add €4, dl K

(A) e + 1  (B) B © & D) e - 1
 dx

_ [
. —————— — = _— + 5 < & -
I coSX./1+ cos2x + sin2x G (¥ 0 <x 4)

(A) 2 + Jeotx  (B) vtanx+1 © J2r2tmx (D) V24 Zcotx

_[ - sin2‘x dx = - log lsinﬁxl - ! loglfx)| + ¢ 84 dl fix) =
sin5x sin3x 3 5 :
(A) sinSx (B) sindx ~ (C) sin2x . (D) sinéx
. vAdd Wil dd X o Aouart QR 1A wwd . |
X =x 0 { 2
Px) 4C° 4C-13C2 7C-1 ;% C>0dAC=
@) 2 ® 1. © 7 ©) 1 and - ;
. Budl Rdaed icuas @Ay A2 weud 9. ~

P(x) = [6] quH, x=0,1,2, ..., 6. 4 2P(2) = 3P(3), Sld fﬁ_p -

: x ) S —— e
1 | . " 1 1

(A)a' B 7 © 3 (1))g |
X-15Y
19, qglRes ud X ol WS ","1 m@l‘F [a'"'&*t_ g6 10 21 5.8 ol E[ 5 J =

Cwmi e ©1 o

; 20, (ol s deu-u Ghal RABE (0, 10), (5,5), (25, 20) dui (0, 30) ©. dgasl
R Z = px + ay @ a> 0l e Bud (25, 20) qau (0, 30) Gw ud A
. poam g ) Wi o8 o e
. @A sS5p=2q BT 0 ©p=2¢ = ®aqg=3
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21.

2‘2 ]

23.

24,

25.

26‘

27.

28,

30.

X | - -
Guaey - + ;’2 =1; 2> b uR & ude) ad eug
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o, Q) aﬁtz +bhyt=1;i=1,28. %2 # ay, by # by, aj, a3, by, by # 0 derzdel
ol ud A

(A) aa) = 'blbz B) a;! — a7t = byt — by
(€) a;! + a7 = b + by - (D) a;b, = azb,
A x wud y 3 A Rl s ougellsl WY du daty = x + x A ol ofled Wy
Ansael Hay AU AAgaa ANA eg[%: £ 0.
(A) x2 + 3x -1 (B) 2x* - 3x + 1 ©2x2+3x+1 D)1+ 2
i/' -0.99 4 A~ Y& o,
(A) —0.9967 (B) -0.9976 (C) -1.0033 - (D) -l
j x> 1= +c
(A) —lug vx'%-x? + x I | .. (B) —loglx -X l
—_— 1 14
© -7 sec”’ (x*) (D) 4 sec”’ (x*)
| | | T
Ic‘i“"(xcosx—secxtanx)dx= , +C;0<x{5.
(A) es™(x — secx) | (B) es™(secx — X)
(C) ef™xcosx (D) esimX(x + secx)
Isin(llx) - sin?x dx = " +oc
' i - sin'? sin'! x
(A) sin(10x)-sin" X (B)
10
10
sin(9x) - sin’ x | cos(10x) - cos’ X
© 9 .(D) 0
log3 x_
_[ cot™! [e 1] dx =
—log3 e*+1
(A) glng 3 (B) mlog 3 ©0 D) nlog?
1007 : -
I | cos x | dx =
0
(A) 200 (B) 100 (C) 50 - (D)o

%2 |
I (x — [sin x]) dx =
0

© @, I = x o D2 4y yalin Wl N yals).

22 wd ' 2 2,

n . L me - n - L
A) 5 -2 ®) -1 (©) ?-:_1 (D) ;

2 2 3
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(A) 2b(be + asm“le) | | - (B) 8b(be + asm"'e) E-
'-‘3 - (©)-bipe +- *asmr'le) THE R - (D) tﬂm(b& 3 jasm-le) :‘m
L. 4% fix) = sinmx o x-wa %uit M}‘iﬁ 313.2{:1 &wl,at!l 8, il e =12,
W8 mo (B) (C)
2 : : dz \3 L 5 , :
32. [Qsa sy (a—x-i—') + 3% = J;; X >'0.~-rﬂ S8 v YR s 0.
' (A) 2 a1 6 oy B)3 a2 -
__ (€) 2 %4 3 L (D) 2 A YRR a-tduwll?lu
33, wAN dondl vufds Yrladi da ﬁlaml&guua YRR Udi asq udlse@ 8.
(A)K+y2 K; ke R B) Y = kx; k € R
(C)x-kyzkeJR (D)x—y2 ke R
- dy =~ 1 = .
34, [Qsa wllsww i xryez. A dseusis siaug (LF) _ &'.
(A) exyi2 () ¢ @ (@) loglx+y+2[
35. WA+b+T=0au|z|=3|b|=5|c|=7du(3"b) =0 du, d
(A) — B (B) ' (C) | (D)
. 36. A1, -2, 9), B(S, -1, 7, c(3 6 -2), D(4 5, 1) ivllQGl @ dl AB on’ CD uﬂl
5 HAY - - -
@A) (2v3,-243, ;ﬁ) ® (4 1, 3)
© (1, -1, 1) : ® e 22

- 37. mAvitmvla[ia{@z -3) 8, c&&@A:;XY—%t%dazupldulmAgY-
- wadll vir py Slu dlpy +pp = |
| (A) 8 . B3 ' (C)2 - D)7

38, uMdd ax + by + cz = 1 Ydld 2gsd A, B w4 C ui 8% 8 du AABC 4wl

- G(—;',"%:')Q.cﬂa‘*'b‘*':iﬂ‘—‘_

(A) i‘ ®4 (©2 (D) 3 .

39. iuux-4z+3 y—2-3zvu[£§tileumﬂa,ﬁuayﬁ1q fﬂﬂﬂsa+cos[3+
. cosy = . o
(A) J— - ®) :/= O 1 D) 2
40. da-d ARas X-ua, Y-wiét :»L& Z-viaeell et Row Al wigsd = Z 2,1,1 LU
wel o 8 ddl GUBgHI Andd w 5.13.&1 doi-ll dond J_ Y dl, u*tct&li_
L .
-(A)x+.,.:{+z='\/—2_' Pt w (B)x+y+z—l
Ox+y=2 @) x=y2
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1. Ans. (B) __
3x+1
Solution : = Al
olution : f{x) Sx—3 Qi
ax+b
fx )__ cx+d
% a+d=20
fx) = f1 (1)
2. Ans. (A)
x,—-2_ : 1
Solution : g(f! (x)) = g(TJ . i
' X—=2)
=6 ( 3 ] i
=2x+14wx=10
=21
3. Ans (A)

Solution :
S®.w(l,3)e S: S wiMRd -l

4. Ans. (O)

wdl (1, 2) € S dul (2, 3)e

Solution :

| . N
—g — cot!(cot x) + 5 tan~!(tanx)
o | | =7 - 2X
5. Ans. (D)
1 . _T
Solution : tan"‘g + tan 5 = 5

n
. cos2 X '5 = cosnt = —1

6. Ans. (B)

Solution : A+ B+ C =1
_n
A+B—-4
.
.'.C-4
7.  Ans. (B) -
117 K
Solution : 10 = S, ,
| 2 5
5m—35
8. Ans.(B)

Solution : C; = C1 ¥ C,+C; M:i QR':!, aru

I_k+p_+q+r

0
* 0

9. Ans. (C)

1 p q
1 k+p 4
1 p k+g
R3 —> R3 —"R|

= R, & Ry - Ry

£ - l“‘.

2k

= 2k

il

—N e )
= o 0

=23
. D=2k

Solution : D = 1(1 + cos’6) + )
cosﬁ(cnsﬁ + cos®) — 1(cos?8.— 1)
D =1+ cos?® + 2c0s*0 — cos20 + 1
= 2(1 + cos?0)

Lp=4q=2
; . 2p t 3q = 14
| 10. Ans. (A) -
s ) _1 4 4 c. .
Solution : 4 1.4 = AZTGAf—-' 27[3
4 41
11. Ans. (C) o
| 3 X e
| Solution : [2020 +2x 21+ 4x] | 2 [= 0
0
: 5
= 2x+40=0 =x="-7

12. Ans. (B)

T 23'm[2x iy E) '
Solution - : dx {“*T3 7%

4/, sin(Zx & -’-‘—]
dx ( 2

d
Ex'-'- (2 cos2x) =y —4sin2x

| 13.. Aus. (D) K
'Soll'lﬁﬁll Q) =2(c - 5) = f(635:{(4)
‘c =.5

= 0 (using LMVT) ..
- (5, 0)
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4. Ans. (A) | Solution : T a,x’ +hyy? =1 ‘ﬂ;l azx2
SA)lution j{l') = j(1+) = D | bzyz 1 1
lm_,ll e(bﬂh"nhﬁx a - a, - 1bl - bs-
e = (k - 1)° 122, Ans. (C)
(logz 2% - 1) 2E23 2y Y
e loga . 2 _ __ dt
. x—=] Solution : —= = dx
k=e+1 \ dA, 2x—
18. | Ans. (C) ) y d}’ '
sec” xdx < dx
~ Solution : j———— tanx = t . .. , _
v2+2tanx 2L +2%) 2:2H3x+1
X .
sec2xdx = dt .. 2+2tanx + C|23. Ans. (A)
16. Ans. (A) o Solution : —0.9967 .
< ,[ sin(5x — 3x) 24. Ans. D) 3
olution : | . —— 4x3dx
sin5x sin3x -
8 : Solution : .[ f
 sin5x cos3x — cos5x sin3x otion 4x* x xvx® -1

sin5x sin3x

[ (cot3x — cnfo) dx

1
3 log|sin3x| —

4x*

4x3dx x° =1

xS

] ‘_
: -1 (4x3dx=dtJ

dt
= luglsme| + C. ) _—41: 7 1_=I sec”!(x¥) + C
ZP(x)) = 1 | 25. Ans. (A)
17. Ans. (O) Solution :
Solution : 4C3’+4C 13C2+7C—1“'1 | Ixesm COSX — IC‘"‘" dx —
‘ 1 . - ‘
- E Sy, [(wa _ Esmx)-_ I-em: dx]
18. Ans. (A) . esinx (x — secx) + C
 Solution : 2P(2) = 3p(3) 26. Ans. (A) L
2 x SCyp? q =3 x Cyp’’ Solution : _[ sin(10x + x)sin%x dx
01:1 sulvmg p= 5 (as p-tq=1) I sinl0x cosx sin’x dx +
' 19. Anms. (O) | | jcaslox sin'%x dx
Solution : v = 5 = 25 sin'® x
~ E(x)? = 25 + 102 = 125 10 sinl0x —— Ismw coslOx
2 N sin'? x
~ E (x +2§§ 3OKJ : dx + Icus(lﬁx) sin!% dx T
1 | sin(10x) + ¢
= 5 (B(x? + 225 - 30E(x) = 2| 27. Ans. (B)
20. Ans. (A) Solution :

Solution : 25p + 20q = 30q
P =2
21. Ams. (B)

adding

= T cnt"["x"]]dx = -T mt"(ij;']d"
3 -log? ‘x"-'l* —log3 -

1+e¢

i
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S
= - 0

— st Yommon Entrance Test ¢ Mathematcs G ' it

log3
A=n" |
| ~log 3
I = zlog 3
28. Anms. (A)

n/2
Solution : 200 | cosx dx = 200

29. Ans, (D)

n/2 g
Solution : J. xdx L
8

0
30. Ans. (A)
- Solution : 2b(be + a sin-! e)
31. Ans. (C)°
: !
Solution : 3 _[ sin{mx) dx
0

5
, n
32. Anms. (O)
Solution : order = 2
' degree = 3
33. Ans. (B)
‘ d
Solutibn : y Ky =k
=>_[ydy=fk1dx
P,
=>y?=klx+c
atx=0,y=0
y2=2k1x
y2 =kx, k € R
34. Ans. (O)
- +y+2
Lo R’
Solution dy y
ix |
E;_x=y+2
35. Aams. (C)

'36. Ans. (D)

Saluﬁon-;::_@ = (4, 1, 3), cD =1, -1, 1)
Now projection of |

RN

(4""1"‘ ) . (1:'—'1! 1)
T (2’ —2’ 2)

—

37. Anms. (A)
| Solution : p, = | z |

P2 = X} + ¥}
pptp=5+3=38
38. Ans. (O
Solution :

i) o) o2

1 1 1 1 i
. | = S 1
'““‘3"=’(3a’3b 3c] (6 3 )
wa=2b=-1¢c=173 -
ca+b+ 3¢c=2
s5d (C) WA 6.

39. Ans. (A) .
x-3 y-2 2z
Solution : — R
olution 4 3 1
4 | -3 | 1

cosoL = E cosf = —==

. cose + cosf} + cosy = E
40. Ans. (C) |
Solution : P = GlrlRgyl wudar doy vidr
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